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NSC
QUESTION 1
1.1.1 | 3700 v answer 1)
1.1.2 | 700 v'v' answer 2
1.1.3 | 45 minutes v’ answer 1)
e N B .
114 | ——t+—t+—t—t— | v' min/ max
0 31 45 63 120 v Qy + Qs
v" median 3)
121 | 40<p<54 v'values
v notation (2)
32+40+ p+56+83 v equation
1.2.2 5
209+ p =300
v answer
p=91
()
[11]
QUESTION 2
2.1 Y
R T Rl st DS P SL LD v'2 points plotted correctly
60 [-am-i- et A
£ 40 f-dodobodelioiiold v'4 points plotted correctly
g 6 points plotted correct
S 20 | -gcto-bodoiobodoiold points plotted correctly
i
0 2 4 6 8 10 (3)
Advertising
22 | y=1,69x+10,49 v 7,69%
v 10,49 (2)
23 | r=095 v’ answer (1)
2.4 | Itis avery strong positive correlation. v answer (@8]
25 | y=7,69(35)+10,49=237,405 v’ substitution
Income = R 37 405 v’ answer )
[9]
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NSC
QUESTION 3
3.11 x+2=5 3+y=4
2 2
Xx+2=10 3+y=8 v x=8
X=8 y=5 @
.. B(85)
3.1.2 4-3
My = ——
AM 5_ 2
_1 v’ gradient of AM
3 v’ perp gradient
1m=-3
y—4=-3(x=-95) v’ correct sub into equation
y—-4=-3x+15
y=-3x+19 v’ answer
(4)
3.1.3 | 0=-3x+19 vy=0
19
X=—
3
C(@ ;oj v coordinates of C
3
3-0
Mye = ) 19
3 v gradient of AC
_-9
13
tan AGX = —2
13
ACX =180°—34,7° Y 145,30
=145,3°
v’ answer (5)
a =34,7°
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NSC
3.1.4 | BC is a diameter converse of £ inasemicircle | v'S
vR 2)
321 D(—4+8_10+ 2)
2 2
v'v' coordinates of D
D(2;6)
AD = /(7-2) +(11-6)’ v sub in distance formula
=+/25+25
=50
=52 v/ answer
(4)
3.2.2
AD = % DE D(26) E(x-4)
52 = %\/(X_Z)z +(~4-6) v sub in distance formula
1032 = /X — 4x+ 4 +100
5 v’ simplification
flov2) = x? —ax+104
) v’ standard form
0=x"-4x-96
0=(x-12)(x+8) v factors
x=12 or x=-8
NA v x=-8only (5)
3.3 Myg = Mac
y-4 _2-4 v’ equating gradients
-3+7 5+7
12(y—4)=-8
12y =40 v simplification
10
y= 3 v'answer (3)
[25]
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QUESTION 4
41 1 X2 1 ox+1+y? -4y +4=44+1+4
(x+1)° +(y—2)* =49 v'vequation of circle
M (_ 1;2) v’ answer 3)

4.2
LineAK :y=-x+5 v'standard form
letA(a;b)then: A(a;—a +5) ¥ coordinates of A
myy =1
—a+5-2 1 v'substitution
a-(-1)
—a+3=a+l
a=1
b=4 (3)
- AL4)
4.3
r’=AM?=(1+1)° +(4-2)° =8 v'sub and
( ) (y- ) _g \/rvalug
v’ equation
3)
4.4 | Distance = radius of bigger circle — radius of smaller
circle v method
=7- 8
=7-2J2 or417 Y answer 2)
45 | K(5;0)
AK =/(5-1)* +(4-0) :yxfg
=32
v'length of AK
Area AAMK = % AM.AK v sibgitn z(i)rea formula
=%\/§\/§ v'answer
_3 (5)
[16]
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QUESTION 5
51 | /8sind+coso O v’ correct sketch in
g | 1
B 1 |TT~ s correct quadrant
- (V8] -2 |42 NC =
r=3
3 3 Pythag
o1
7 3
)
s_J8
3
¥~ answer (5)
5.2 | (~cos45°) (tan x)(~sinx) v/ v'v'v reduction
—sinx formulae
1 2
= (_ _j tan x v value of special angle
V2
— 1 tan x v’ answer (6)
[11]
QUESTION 6 -
6.1.1 | 2cos@ =sin(6+30°) _
=sin0cos30° + cosdsin30° v’ expansion
V3.1 v substitution of special
=—sin@ +—-cosd
2 2 angles
- 4¢0s6 = ~/3sin0 + cosH V' 46050 = 3Sing +cosd
~.3¢0s0 =+/3sin@
3)
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NSC
6.1.2 | 3¢c0s@ = +/3sin6 v division
ing_ 3 o=l
cosd 3 J3
3
tand = —
N
6 =60°+180.n v’V answers
0 =-120°0r 9 = 60° 4)
6.2.1 g:

v'y-intercept and
X- intercepts
v' shape

o
f:

v'y-intercept and
X-intercepts
v' turning points

v shape

()

¥, v'v values
—30°< @ <90° v’ notation (3)

6.2.3 v'v values

—-120° < 8 < 60° v’ notation
@)
[18]
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7.1 In AAHC; AHC = 63,4°
AC 250 v" method
sin63.4°  sin26,6° + value of
AC = 62443 value of AC
In ACHB : CHB = 68,2°
BC 250 v method
sin68,2° sin218°
BC = 625,04 v value of BC
In AABC
AB’ =(624,43) +(62504) —2(624,43)62504)c0s1045° | ¥ sub in cos-rule
=9760313165 v_ answer
AB =987,94 (6)
7.2 ' ' °
In AABC - SIn A _ sin104,5
62504 987,94 v method
sinA=0,6317 v sinA=0,6317
A=39.2° v answer
3)
[9]
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QUESTION 8
8.1
811 B+P =90° £ in semi circle
2 _ v SV R
S+P +P,+R, =180° Z'sin A
S +90°+30° =180°
~ $—p0° v answer
3)
812 $_NN, PR subt = ~'s vSYR
N, + N, =60°
N, + N, +T, +R,=180° Z'sin A
60°+90°+R,=180°
s~ R=30° v answer
3)
OR
T, + P, +S=180° Z'sin A
90° + P, + 60°=180°
P, =30° 8
P =R NR subtends = /'s V'R =30°
ki ) v S/IR
R, =30 v answer
©)
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8.1.3
0,=2R, £ atcentre = 2.2 on vSvR
circumference
~ 0,=2(30°) =60°
N, +T, +(51: 180° Z'sin A
, +90°+60° =180° v answer -
N, =30°
OR
(51: 2(30°) =60° Zatcenter =2 . Zat circumference | v'S/IR
NélR =120° adj. on str. line
N, =R, Z's opp =sides
NO,R+2N,=180° /Z'sinA v SIR
120° + 2N ,=180°
2N ,=180°—120°
N = 30°
But N+N, =60°
~N,=30° v answer
3)
8.14
NW = WR given v'S
~ W, =90° line from centre, midpoint | ¥ S/R
chord
T, =90° /s
~ W, +T, =180°
=~ TNWO is a cyclic quad opp Z'ssuppl vR "
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P
8.2
10
O ¢
8
R
Q

8.2.1

PTQ =90° Z in semi-circle “; S

PQ*=QT? +PT? Pythagoras theorem R

10 =82 + PT? v'S

PT=6

3)

8.2.2

PTQ =90° rad L tangent v SIR

PR? = PQ? + QR? Pythagoras theorem

(x+6)? =10% + QR? v'substitution

x? +12x — 64=QR?

Vx? +12x-64=0QR (2)
8.2.3 | QR* =QT? +TR? Pythagoras theorem

QR? =87 + x?
(X +6)> —10*=8% + x°
X% +12X —64=64+ x>

v'S
v substituting QR?

12x=128
32 v’ answer
=3 3)
[21]
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QUESTION 9
9.1 £
D
0
1
8 A v’ construction
Draw diameter OBE and EC constr.

B, + B, =90°

radius | tangent

Z in semi circle

Zsin A

subt BD

constr.

radius | tangent
Z in semi circle

EC subtends = /s

v SIR

v SIR

V'S

v SIR
()

v construction
v SIR
v SIR
v SIR

v's (5)
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9.2
AB =6
CDh=4
D, =90°
9.2.1 | In ADBC and AADC ,
D,=A tan-chord v SIR
DCA = DCA common V'S
. ADBC /// AADC i v R
©)
~ -
9.22| DC _AC ADBC /// AADC correct ratio
BC DC S
v’ simplification
DC? =BC.AC
% .
4% — BC(AB + BC) substitution
= BC(6 + BC)
16 =6BC + BC? v’ std form
2 _
BC°+6BC-16=0 v factors
(BC+8)(BC-2)=0
BC=-8or BC=2 v' BC =2 only
..BC=2 (6)
9.2.3 | ADEC /// AAFC given v S
DC AC v’ correct ratio
EC FC v AC =8
4 _8
EC FC v simplification
~EC=1Fc (4)
2
.EC =EF
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9.24

ACDF 1

ACFA ~ 2

FA=2FD given
2ACDF = ACFA

but ACDF + ACFA = AADC
. ACDF +2ACDF = AADC
= 3ACDF = AADC

and ACDE = %ACDF

1ACDF

ACDE 2
AACD 3ACDF

vSvR

V'S

v'S

v/ answer

Q)

[23]
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QUESTION 10
Vv
10.1 Al :'fl tan chord theorem V'S VR
5 =Q tan chord theorem V'S
T,=Q
SRS/ ST corresp Zs are equal v R
(4)
v
10.2 pPs _PW lines // one side of A >
SR WT v R
PS_PT vs
SR TQ ©)
PW _PT
TWT O TQ
[7]
TOTAL: 150
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